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; 100kN/M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - [ 3mERBZS -~ - -
zh st 1.00 | 000 ~ 475 59.22 | N4 | 000 ~ 000\ 1.67 8.96 zhst 1.00 | .00 ~ 5.00 59.22 | =nSs | 500 ~ 5.00| 1.67 8.96
P 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - [ 3mERBZS -~
zh st 1.00 | 000 ~ 707 89.81 | Fhus | 000 ~ 707| 1.98 10.61 zhst 1.00 | 5.00 ~ 9.90 89.81 | Thls | 500 ~ 9.90 | 1.98 10.61
3 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -[3mERBZS -~
zh st 1.00 | 000 ~ 725 9227 | NS | 000 ~ 725|246 13.15 zhst 1.00 | 500 ~ 1040 9227 | S | 5,00 ~ 1040| 2.46 1315
4 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -[3mERBZS -~
zh st 1.00 | 0.00 ~ 548 68.34 | TS | 000 ~ 548 229 12.27 zhst 1.00 | 5.00 ~ 9.90 68.34 | ThS | 500 ~ 990 | 2.29 12.27
5 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/Mi%E# 2% - -~ - -[3mERBZS -~
zh st 1.00 | 0.00 ~ 508 63.34 | S | 000 ~ 508 219 11.72 zhst 1.00 | 6.00 ~ 7.70 63.34 | Ths | 500 ~ 770|219 11.72
5 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/Mi%E#8 2% - -~ - -[3mERBZS -~
zh st 1.00 | 0.00 ~ 280 36.39 | NS | 000 ~ 280 | 2.38 12.71 zhst 1.00 | .00 ~ 5.00 36.39 | TnS | 500 ~ 5.00 | 238 12.71
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100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEEBAD ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEEBAD ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
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